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1. REEE
REHES 1,562,731 2,469,305 A 906,574
RBEERET 1,562,731 2,469,305 A 906,574
2. EEEE
(1) EARBLE
PRl ENES 100,000,000 100,000,000 0
HEABESET 100,000,000 100,000,000 0
QOB TEEE
EHATESE 75,006,914 78,006,914 A 3,000,000
PRl HIE S 100,000,000 100,000,000 0
BEEERE 175,006,914 178,006,914 A 3,000,000
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ZTOMEEEESET 0 0 0
EE&EESE 275,006,914 278,006,914 A 3,000,000
BEARE 276,569,645 280,476,219 A 3,906,574
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1. REaE
RBBESE 0 0 0
2. BEIEEE
EERBESE 0 0 0
BESE 0 0 0
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1. ¥8EIERREIE
IEEIERBAE ST 0 0 0
2. —fiBIERRELE 276,569,645 280,476,219 A 3,906,574
OBEKRBE~DFTLHEE) (100,000,000) (100,000,000) 0
OB EEE~DIELHEE) (175,006,914) (178,006,914) A 3,000,000
IEREAERET 276,569,645 280,476,219 A 3,906,574
BERUVEKMESE 276,569,645 280,476,219 A 3,906,574




